OE >
EH252 DS7210
XSF850LDE



ASF BSOLDE

FIG.100

EH252DS7210

2014/0117

909 T—2
FIG. 100 |

[

B.BS type

81D
080-GASKET GET B0

270010000W01

EH252



EH252DS7210 FIG.100
REF EAES i LER D] BEES | 4B e B ES
10 |254-10102-51 950945 =R CP 7153- 1
254-10102-41 ISvOT—A P 5017-7152| 1 254-10102-51
254-10102-31 D5 lr—2 P 50161 1 254-10102-41
20 |(263-14211-03 IWTHA K - 2 | 6DX11DX32. 5L
26 |132-07AA0-50 =l AT LT 5035- 1
30 |044-03000-30 FTAi—-n - 1  |30DX45DX8B 044-03000-31
40 |060-03000-20 R—R7YLY - 1 | 30DX620X168
46 |060-01500-11 R—nRpysy 7153- 1 |15DX35DX11B X60-01500-11
060-01500-10 R=R7PV) 2o -7152| 1 |15DX35DX11B 060-01500-11
50 |031-00600-20 A)TILEY - 2 |6DX14.5L
55 |263-55601-03 Av - 6910- 2 | 11Dx8. 8DXBL
142-55601-03 17 -6909 | 2 |11DX8. 8DXeL 263-55601-03
60 |010-50802-90 AZY K i 2 [M8X1. 25X30L
75 |044-00800-10 FALNT— 5017- 1 |8DX14DX4B
80 |040-11400-30 759 - 2 |M14x1, 5X200X12L
90 [021-11400-20 HRTY b S 2 |14.1DX19DX2. 3T
210 |254-11003-31 A=RPY T HS= (P 7153- 1 254-11003-41
254-11003-21 A=URF Y HiS— P 6607-7152| 1 254-11003-31
254-11003-11 A=URTUTHIS— (P 5845-6606 | 1 254-11003-21
254-11003-01 A=—URTY T hi— P -5844 | 1 254-11003-11
220 |044-03000-30 FAo—i % 1 |30DX45DX8B 044-03000-31
230 |060-03000-20 H=—LRFYY - 1 |30DX620X16B
235 |060-01500-11 H—R_R7 Y2 7153- 1 |15DX35DX11B X60-01500-11
060-01500-10 K= RPYLY -7152| 1  |15DX35DX11B 060-01500-11
250 |234-45001-01 HF¥x P - 1 |53DX26T N=20 270-45001-01
260 |205-41901-03 HiFz)-7 - 1 |6DX9DX16DX26L
270 (282-63601-H1 FANTF—2 P 6666- 2 |Mi8x1, 5, L=59+23
269-63601-01 FANT =S P 5661-6665| 2 |M18X1.5 L=566+23 282-63601-H1
280 |[X21-31600-20 HR7Y b 6666- 2 |16DX23DX1, 2T RUBBER
021-31600-20 ARk -6665| 2 |160x23DX1. 2T RUBBER




EH252DS7210  FIG.100
REF HnES i &4 4 B BHES ¥R flE S HiamaES
290 |[254-16001-13 HRTY b RPU TN~ 4483-5844 | 1 |1=0.3
254-16001-03 HArY b AT Y 0 H8~ -4482| 1 |™=0.3 254-16001-13
300 |001-04083-00 P I 5845- g |M8X1, 25X16DX30L
001-13083-00 MLk & DY AY -5844 | 8 |M8X1.25X30L W/sH
610 |270-13001-21 DY UHEAYE CP 5035- 1
270-13001-11 PYEAYE P 5035-5691 | 1 270-13001-21
270-13001-01 SYHAYR P -5034 | 1 270-13001-21
620 |254-15001-13 ARTY b AV R . 1 |T=0.2
630 [011-01000-40 725 PRN b - 4 |MI0X1. 25X19DX75L
680 |270-15503-03 AYh—hsi— z 1
690 |270-16004-13 HRY b, avh—hsi- 5530- 1 |r=as
270-16004-03 ARk, avh—hsi— -5538| 1 |T=2.0 270-16004-13
700 |031-00600-20 HoTEY S 2 |6DX14.5L
710 |011-00600-20 75 UHIL b 6057- 4 |wex1. oxtdpxiaL
011-00600-20 75w UHL b -6056| 6 |Mext.oxtdpxiaL
810 |254-14301-01 TN =4hsi— CP ~ 1
820 |254-14401-11 AR AVEN VY R 1
830 |246-16006-03 ARV b, T =HFhii— - 1 |[T=0.8
840 |246-16007-13 HRr9 b, ZU—HFFl—k - 1 |T=2.0
860 |011-00600-20 250K b 6057- 2 |MBX1. 0X14DX12L

960

254-99001-17

HRrY e b




EH2562DS7210  FIG.200

2 9300 T M EXMY

FIG. 200

AN
i |"K
]1.”|_:|
210 50 250
: g
e J:ff’}j 85 | <o
LS | AGQY I
AR N a8 310
\":}:‘, l!’I \\ ‘t\J .lr l
- SHv) ,L
80 .f“‘@@‘ib H—320
DDStype 2 ,fff;*}%? F1<
g’/ %"‘k }/ ?0
{/ » ):'31.1 e
E‘Q?'. )~ |
oy T 10
AT‘" ] 40
0 4
100 45%
£ e_-‘:.’: A
i\{i\:}miﬁi
B,BS type 3 '-“\‘ 1NN
F 6,}(:::?}[ \\l“—)/
- ?s'_\, P
A @
N
% QY
20 ’ 22 30
L _ .
10
EH252 270020000W01

2014/01/17



EH252DS7210  FIG.200
REF HaES AR WEES | ¥ e B RES
10 |254-20201-01 9329w T kP 5 1 |L-286 26DX60L 270-20201-01
40 |023-03001-70 AN—4 = 1 [30. 3DX40DX0. 6T
41 |023-03001-80 AR—4 = 1 |30. 3bx4opX0. 8T
42 1023-03001-90 AR—4 - 1 |30. 3abx4opx1. o1
50 |018-01800-10 I530CFYk 6727- 1 |M18X1. 5X31DX14H
002-18180-00 FU b 8726 1 |m8x1.5X15H
60 |003-20180-00 A 27 A V2 o 6726 1 |18.2DX31DX4. 6T
65 |003-10180-00 DAY 6727- 1 |19DX320%2. 6T
70 |032-30300-10 YRS TH— - 1 |3BX6HX16D
80 |005-30073-51 *— & 1 | 7BX7HX35L
90 |020-00800-20 7YYy 5 1 |8.5DX35DX4. 5T
100 |001-13081-60 BRIk & 7YY AY - 1 |MBX1. 25X16L W/SW
210 |254-24101-03 A0, D2 i S = 1 |L=125 70DX8B N=32
310 |254-22501-00 ARG TATBYE A a 4  |100CDX28B 34D-18D 254-22501-10
320 |246-23001-13 ARy FaoyaY ERIL - 4867- 2 |M8X1.25X14, 6DX46L
246-23001-03 ARTTFATaY R+ 4866 | 2 |MeXI. 25X14. 6Dx46L 246-23001-13
350 |270-23301-13 ER Py 6666- 1 |18Dx13px56L
270-23301-03 ERbUEY -6665| 1 |18Dx1axseL 270-23301-13
360 |270-23401-H3 ER b2/ 6666- 1 [STD (75nX4aH)
270-23401-03 ER kY -6665| 1 |STD (75DX43H) 270-23401-H3
361 [270-23402-H3 =5 W) 6666- 1 [0.25 0.5. (75DX43H)
270-23402-03 EA kY -6665| 1 |0.25 0.5. (750X43H) 270-23402-H3
362 |270-23403-H3 EX by 6666- 1 |0.50 0.8. (75DX43H)
270-23403-03 ER b -6665| 1 |0.50 0.5. (75D¥43H) 270-23403-H3
370 |254-23501-07 EX Ry dey b = 1 |STD (75D) 279-23511-17
371 |254-23502-07 ER Ry vday b s 1 [0.25 0.5. (75D)
372 [254-23503-07 = S IR/ S0 - 1 [0.50 0.8. (75D)
380 |056-51800-10 sy 5 2 [18.90X1. 6D




EH252DS7210  FIG.300

3 4AVF—9, THVIY—-R}

FIG. 300 |

230
200
9547 5> 260
0-® J,-"\rj@&sf’; "
BO—E J W I
=Y N
NN TSN

N
-

D.DS type /{ ==
10 }\_‘ T
" T

& N

8.B5 type 110

100 “

0l 2 &

il
D O

N DL
907{ Jaﬁx:\\[‘- SRR
Qx‘_: ) N, - ""“&-{f' 1 |

40

32 a8 3'3 3!5:
I
10

EH252

270030000W01

2014/01/17



EH252DS7210  FIG.300
REF HRES A0 EEES 4@ RE HERH&HES
10 |254-31701-41 hbivw2 b CP = 1 |L=137 96DX98 N=38
34 |227-38601-23 B 2 FYwY - 1 | 8DX7. 8DX14L
35 |254-36401-23 =R LR— - 1
36 |005-19041-00 AT TEY ¥ 1 |4 4px10LX0. 87
37 |003-15220-00 AFVF) oy = 1
38 |234-38701-03 a=v2Jysy - 1
50 |239-33301-13 2Rk - 2 | 260X80X48L
60 |246-33611-03 KWTRTYVY = 2 |22.20x2. 9DX3TL N=6.5
70 (246-33711-13 RFYLI)F—F 5511- 2 |7. 6DX26DX8T
246-33711-03 AFULT )% -5510| 2 |7 cbxaeDxaT 246-33711-13
80 |270-33401-03 AVT=010LT S 1 |30DX6DX80. 3L
90 |270-33501-03 THY-R LT w 1 |26DXaDX80. 3L
95 |246-35501-03 aLy kT " 4
210 [270-35301-03 Jvyaayr . 2 |5.6DX166. 5L 270-35302-03
220 |269-36002-03 QYh—F—4 7113- 2 269-36002-23
269-36001-03 AYHh—P—L4 4758-7112| 2 269-36002-23
261-36001-A3 avh-F—4 -4757 | 2 269-36002-23
230 |269-35801-03 Ak, ERY B - 2 |M6X0. 75X10L SOCKET H 269-35802-03
240 1017-00600-90 FUE & 2 |Mexo. 75X5. 11
260 |270-36501-03 AL KTL—+ " 1
340 |246-35201-03 HAZY R TT79— - 4 |T=0.2 30D 8.5DX52P
350 |017-00800-30 Fok = 2 |M8x1. 258, 5H
500 |254-33001-01 AUF~0184F P i 1
505 |010-50601-91 REYE ” 2 |MeX1.0X88L
540 |234-32901-03 1rvar—4% - 1 |T=10 25D 6.5DX46P
550 |234-35902-03 ARk AvvaL—4 - 2 |1=0.2 25D 6.50¥d6P
555 |246-36001-13 HAFY b AVF—0 R4 T s 1 [1=0.2
556 |001-13082-80 ALk & TUIY A - 3 |MBX1. 25X28L W/SW
570 |226-39212-00 FYb PR OULY A - 2 |M6X1. 0X14DX6H W/SH
580 |001-10061-20 ALk & DU AY - 1 |MeXi.oX12L W/sw




i)

EH252DS7210  FIG.300
REF BaRES B2 7 EEES YR HE ERGAES
850 |085-10802-20 Si18—18147 1 |8DX11DX75L 085-10800-00




EH252DS7210  FIG.330

3 AVF—U, TXFJ-X}
FIG. 330 |

R
A
e Y.
Y ‘ \ /\\\\%}‘ o~

»

EH252 270033000W01

2014/01/17



EH252DS7210  FIG.330
REF HamES AR EEES | Wi 12 HEiRfA&ES
310 [270-30101-01 223 0P " 1
320 |284-34201-11 wDDNik= . 1
360 [015-20600-90 aVESTHIL = 4 |MBX13DX10L
361 |015-20601-00 2y IR b . 1 |mMex13pxi6L
365 (001-10081-60 ALk & DYSY AY - 1 |Mex1. 26X16L W/SW

430

270-34801-03

IHJ=R b A4 T HiR=CP




EH252DS7210  FIG.400

2014/01/17

4 HANF FRL—=F
FIG. 400 |

EH252 270040000W01



EH252DS7210  FI1G.400
REF A EE A5 AR EEES | 3 = HiibsmEs
10 |254-42301-23 HisFLsi= . 1 254-42301-33
20 |246-42201-23 HisFovo o 1
26 |003-11080-00 DYk 5017- 1 |e.50x18DX1, 6T
30 |254-42701-01 HiiFav kK P ” 1
40 |254-42801-03 avERFY vy - 4 |6Dxo.5DX102L N=13
50 |003-13060-00 o7 u 2 |6bX1200. 8T
60 |001-14063-00 ALk & DU AY 5 4 |Mex1. ox3oL w/m, Sw
70 |018-60600-20 FVh - 1 |MBX1.0X4. OH SQUARE
80 |254-42501-13 HRFRF Y2y . 1 |8DXo. 7DX43L N=16.5
310 |270-43302-00 AE—-Fayra—L AY = 1
330 |227-43601-03 /7 - 1
340 |270-43501-03 ArYFTIL—b - 1
345 |004-31042-50 A70a,80AY B s 1 [M4X0. 7X25L
346 [269-45503-03 P4 RLEY RRATY LY . 1 |5DX0. 6DX30L, N=10. 5
350 |227-45002-03 ATV T 2vow = 1 |1=0.4
360 |004-31063-00 A2 - 4 |Mext. oxaoL
370 |002-27060-00 +Yk u 1 [Mexi.ox3.eH
380 |011-00600-50 25 22RI b - 1 [M6X1, 0X13DX20L 001-04062-00
410 |270-44201-03 DAY TSy 4686- 1
254-44201-23 DALY TSrYk -4685| 1 270-44201-03
440 |004-31040-80 Ay)a n 1 [M4xo. 7x8L
450 [002-27060-00 FYk u 1 |Mex1,0x3. 6H




EH252DS7210  FIG.500

2014/01/17

5 H—ULHG RA=FA42Y
FIG. 500 |

EH252 270050000W01



EH252DS7210  FIG.500
REF G e bl 4 IR EFEES MR Lk ERilaES
10 |254-53550-11 FAONGSLY P2 4355. 1
254-52051-01 Favno e e -4354 | 1 254-53550-11
21 |270-85101-03 240, BF N 6767- 1 |Boxes
270-91706-03 SR, bL—=FR~% -6756 | 1 |oxee 270-05101-03
35 |270-91808-03 RN, IVVYh-L - 1
40 |011-00600-20 25 vl b - 5  |Mext.ox14pxioL
90 |254-52701-03 AY KHI= - 1
100 |207-54476-11 T ) =Hhs{= P 5814- 1
220 |011-00600-10 230U b - 4 | MBX1, 0X14DXBL




EH2562DS7210  FIG.520

5 9=V RA=FA425

FIG. 520

(’-:-ii‘\\:‘ e, ” J :.
TSN PN NN S N
~ '\. I)‘J.‘I'I.l!‘ oo ML - e
N\ PRSI
P U A R S ST R
m, f « T'\ § L“‘“‘L—:l” 210-4 -
v & & N Lo~ 2103 7
@ \\\ \__\ \\ x_\ 210“22 :"/
L T s
7~ -\-.”, " "‘-\\ ., ]
(N ) ™ S N 2105 >
N L4, S S 210-6 7 210
N N\ 2108
. 210-48_~
210-11 7"

sSNORKEL

5

- EH252

270052000W01

2014/01/17



EH252DS7210 FIG.520

REF TR e &R BREES | W@ i HiMRES

210 |270-50202-10 YaqLRE—5— A D360 5430-5813 | 1 270-50202-20
270-50202-00 YRR =4 AY -5429| 1 270:50202:10

- 1 |270-50115-08 ASLINATY Y -5813| 1

- 2 |270-50120-08 Yep -6813| 1

- 3 |270-50113-18 R45—% -7 5430-5813 | 1
230-50112-08 R8—-5-0-7 -5420| 1

- 4 |236-50101-08 S -5813| 1 236-50101-18

- 5 |270-50125-08 55Ty -5813| 2

- 6 |227-50131-08 JyssaLRTY LY 5813 1

- 7 |227-50135-08 Ya—2RFYLY 5430-5813| 2

- 8 |270-50261-08 SFIVRHA K -5813| 1

-11 [270-50145-18 A4 -1 -5813| 1

-49 [227-50152-08 Y FRYY2 -5813| 1




EH252DS7210  FIG.600

2014/01/17
6 Za—-TJ)L,IL=-TYhok

FIG. 600

EH252 ' 270060000W01



EH252DS7210 FIG.600
REF HamES AD A A R EFEES | uE R EEnEE
20 |073-20047-10 SR, 2=sAY ; 1 [aekt1r oapan
63 |001-16082-00 Lk & T A 7107- 3
001-15082-00 AL b & DY AY 7108] 2

95 [062-10700-42

Hovs

7. 2DX7. 2DX26L

181 |234-67101-03

Fa-Jaxs4

183 |056-61000-21

2907

TODXMEXT5LX0. 6T




EH252DS7210  FIG.630

6 Za—TJ)L II—=TYAhAok

"FIG. 630 |

064-20021-01
064-20023-01
064-20071-01
064-20089-00
064-20113-00

064-20086-00
064-20100-01
064-20102-01

064-20084-00

EH252

270063001 W00

2014/01/17



EH252DS7210 FIG.630
REF HREES AL EERS YR e ESHEES
50 |064-20114-00 FA=ZIA Lt AY 6993- 1
064-20021-01 FA-TNR bl M. 6002| 1
- 1 |064-20002-20 2404 " 1
- 2 |064-20002-30 HArY + R 1
- 3 |064-20019-10 nvF - 1
- 4 |064-20003-20 FUh - 1
- 5 |064-20002-50 HR7Y b 6992 2
- 7 |064-20002-40 Roga—t b -6992| 1
- 8 |064-20027-90 AL b . 1
- 9 |064-20003-30 o=y = 1
-10 |064-20024-10 avoFyk = 1
-15 |064-20032-30 AFYy - 1




EH252DS7210  FIG.640

6 Za—I)I I—=-TYhok

210
21023 €
210-3.. & l p10-8

, 2104 --M_,_,.

e 1) 210-9
210-1— ﬂ_f’-cj?{') 2106 &-—210-25
210-11—— ? 210-7 ©—210-81

i W &—210-62
210-101 = ®—910-13
210-102 -
21041
2 __910-15
21045
210-22—a__ —— 21044
—210-14
210-20 210-24
. 210-27
'y
210-21 —— —j| | /o
|J;{’(ﬂ
210- 13———( ) 210-26
210-127 — D
P o

A §

210-18 ﬁt%J H—210-28
21029

210-16 tu-;_. 24 _&@,%10‘125
\-r*/ -\_w/\

210-118 —————cb g A 126

210-116- —F‘@Eﬁ

21017 @ B 540 447

21012 ——— 8 [E

EH252

270064000WO01

2014/01/17



EH252DS7210  FIG.640

REF BAMES Al i & TR TEES | uE e HRARES

210 [254-62318-00 FYTLAR AY 4313- 1
254-62315-10 xYTLA AY 4312 1

- 1 |239-62535-08 20 ST & 1

- 2 |209-62351-08 A2 - 2

- 3 |254-62525-08 Fa-y "I 4 1

- 4 |237-62451-08 Z502 £ 2

- 5 |157-62420-08 AL & 1 |#46.3

- 6 |254-62305-08 FOXNRAE - 1

- 7 |206-62446-08 2AINY u 1

- 8 |234-62521-08 L= &Y, F3-% . 1

- 9 |239-62560-08 PZ; 4313- 1
234-62550-08 oy 43121 1

- 11 |254-62530-08 AAY ML S¥T h—A 4313- 1
254-62532-08 ABY L YT 4312 1

- 12 [254-62425-08 DIY hRLA - 1

- 13 |226-62550-08 yuy - 1

- 14 |224-62312-18 =— KL AY " 1

-15 [214-62515-08 (<9 . 1

- 16 |254-62554-08 70— RRF—A ~ 1

-17 |248-62451-08 PR u 1

- 18 |206-62540-08 APVE . 1

-19 [234-62506-08 ZB—-k-A - 1

-20 |254-62442-08 A= s XN - 1

-21 |246-62425-08 CTY hRAY - 1

- 22 |224-62403-08 A-vPITY . 1

- 23 |246-62455-08 AL b . 1 |Ss400(ss41)

-24 |226-62701-18 9y = 1

-25 |246-62446-08 RIYY -4312| 1

-26 (234-62453-08 2Ty oY 4313- 1
246-62453-08 F—-2 4312 1 |vr-1B




EH252DS7210 FIG.640
REF T e A A EEES | %@ bl HifiHES
-27 |234-62454-08 2y 4313- 1
247-62445-08 AT LS (FI=H) 4313- 1
234-62451-08 H) w7 ) ’
- 40 |246-62435-08 PUYAR RHYUA N 4
- 41 [230-62446-08 27y Y - 1
-44 107-62410-08 IPUIVE . ’
- 45 |248-62410-08 ES DETTS . 4
-61 |247-62550-08 Ry%y . 1
-62 |236-62680-08 S—n . 4
-101 |156-62351-08 TS " 1
-102 |106-62392-08 S=1 4313- 1
125 |247-62562-08 YL/ A KA 4313- 1
-126 |247-62565-08 DY 4313- y
-127 |242-62313-08 0yvy 4313- 1




EH252DS7210 FIG.310

2014/01/17

8 AVT—0.TFJ=R+
FIG. 310 |

5110
] 1
520
§10-3 510-820

:E§-l252 270031001WO00



EH252DS7210 FIG.310
REF flSES G ER BESS | W e HREHMES
510 |254-32624-00 I72N—+ N “ 1 |eveLoN pbuer
- 2 |234-36008-08 18 - 1 234-36003-03
-520 |234-32604-07 ILAVFEYE . 1 |GYCLONE 234-32607-07




EH252DS7210  FIG.700

1 TLYPRYYYD TINA4R

FIG. 700 |

ow

90

EH252

270070000W01

2014/01/17



EH252DS7210  FIG.700
REF B gk A BHEES Bl LUk HiRdam#ES
10 |234-70204-11 734 HRA =) P = 1 |MARK MF3686
11 |254-79430-31 f=yvavaqi P 5128- 1 [WARK BM3744 A 254.79430-51
254-79430-21 A=y 3vaqi p -5127 | 1 |MARK BM3744 254-79430-51
12 |234-70167-01 Sv7asn - 1
20 |267-71002-03 ) T E 6088- 1 [p 180DX217DX7B N=85 267-71002-01
254-71002-13 Yo gxy 5322-6087 | 1
254-71002-03 Y gxY -5321| 1 254-71002-13
30 |001-14062-50 AL b & ULy AY . 2 [Wex1. OX25L W, SH
35 |004-35062-50 RHY & TR A g 2 |Mexi. ox25L W/sw
80 |226-75501-03 Jaityh = 4 |8DX14DX7.5H
95 |065-90000-10 ISTE—3FN 5539- 1
100 |065-01401-90 AR=0F3Y = 1 |NaK BP4HS
110 |065-50001-40 A= TS TV T 5530- 1
065-50000-51 AR5 TS Y%y 5538 | 1
170 |206-75501-01 9527 P - 1 | 10DXMBX12BXO, 6T
176 |004-31060-80 A9)a < 4 |Mexi1, oxeL




EH252DS7210  FIG.720

2014/01/17
1T TLY MYV T4 R

FIG. 720

EH252 270072000W01



EH252DS7210 FIG.720
REF Lk GilE=R EEES | Wk bk 3 Bl Es
121 |002-27060-00 +vk 1 |Mext. 0xa.6H
122 |003-20060-00 AFULIIYLY W 1 |6, 1bx12, 201, 5T
130 |001-14083-50 M b & D AY . 2 |Mex1, 25351 W/W, SW
190 [073-20044-80 SR, RYTY - 1
211 |001-16051-00 ALk & TVv AY - 2
216 |002-27060-00 Tk . 2 |MeX1.0X3. 6H
218 |003-20060-00 AT IIVLY 5 2 |6.1DX12, 2DX1. 5T
291 |246-71903-01 L¥aL—4 P = 1
300 |066-10000-10 RURFYY RAVF - 1
301 [011-00600-20 25T b 4 2 |N6X1. 0X14DX12L
331 |214-73128-11 44— 28 CP - 1 |L=100 RED
340 [224-73201-01 I 4¢— 20 CP x 1 [L=180 BLACK
350 |214-78501-03 4% br=ouY % 2
410 |056-60002-50 9507 = 4 |6.5DX10BXO5LXO, 6T
420 |254-76503-01 TSHYb P IIRAVTF - 1




XSF 850

EH252DS7210  FIG.730

1T TLYRIYY T4 R

FIG. 730

120
B I
1007 120-16
120-33 |
1209 | 4 ® P
120-44 " \3 B
[ OV ,f’
,.-’r P Y 120 20
AWK 120-6
,,*,~< S ' 120-28
T 1204 /’ 120-4' \M}
1 /’
| -7 120229
12047 o -:-?f}' 120-40
iy r120 ng
¥ 120-48 feerd

EH252

270073000W01

2014/01/17



EH252DS7210  FIG.730
REF S 0 5 2 i BEEE YR bk HRfaES
120 |254-70502-00 RE—FAVTE—H— A - 1
- 1 |254-70551-08 a-u u N 1
- 2 1254-70541-08 TS5VHT N u 1
- 4 |254-70536-08 RLH—~ AY # 1
- 6 |254-70557-08 FIFv— AY - 1
- 7 |254-70522-08 DSYF ST N = 1
- 9 |254-70502-08 NS I N . 1
-11 |254-70505-08 TP -4 AY - 1
-16 |227-70562-08 2+vTyvY - 1
-17 |254-70574-08 ALk, AN— . 2
-20 [227-70573-08 Vi, Fo—-t = 1
- 23 |254-70573-08 oy, FL—h . 2
-33 |227-70560-08 AFYY g 1
- 34 |227-70561-08 FYREZFUALYT 0 1
-40 |254-70581-08 Ivvrd 4va—-3y - 1
-41 [254-70582-08 ATV 3 L= RVER - BV .. 1
254-70576-08 Fuk - 1
-44 |254-70571-08 0=n>y 8 5 2
-46 |227-70571-08 -9y - 2 o
-52 |254-70572-08 -y = 1




EH252DS7210  FIG.900

9 FUrEHY-X

FIG. 900 |

740

712

\"J .
.
e e ey
2N
742 743
™ =1 A
- 455 .
i -
.--:"";'-I ~ 5"‘){:

EH252

270090000W01

2014/0117



_)

EH252DS7210  FIG.900
REF bR TS Bl b AR FRES LR e Rt S
10 |227-90301-10 FoRYYY=LEY k - 1 282-90301-HO
410 |226-45002-13 UEE % T P 4 |12-6DX1. 20%B8L =12
712 |KU3-11008-01 2A-T) HYh avhE=N P - 1




